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Section 1.8
Continuity and consequences of continuity.
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Pretty much every function we can write is continuous on its domaiin and
continuity usually boils down to domain questions.
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13.  + 0/ points

January 30, 2024

Suppose fand g are continuous functions such that g(6) =5 and lim_[3f(x) + f{x)g(x)] = 48. Find f(&).
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12.  + 0M points

For what value of the constant c is the function £ continuous on (—ca, «=)?
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15.  + 0/6 points

Use the Intermediate Value Theorem to show that there is a root of the given equation in the specified interval.
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Easier proof, using Intermediate value theorem and a couple of guesses:

sin(1) sin( 1)

So there's a zero in both (L{/Z) and (3/2,2)

evalf (%) 0.8414709848

_ by Intermediate Value Theorem.
sin(8) sin( 8)

evalf( %) 0.9893582466

sin(4) sin(4)

evalf(%)  —0.7568024953
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63. Prove that f is continuous at a if and only if

;li_r}}}f(a + h) = f(a)
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This is either

""the topologist's sine curve'

or its evil twin.
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See Maple PDF from 1/25 :

_https://harryzaims.com/201/201-spring-21/notes/210125-maple.pdf
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